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 אפשרי xכל  (4)   2 (3)   1 (2)   1 (1) 

 
 
2. 50yx2  

700y15x10  

?y   
 

(1) 15   (2) 25   (3) 35   (4) 45 
        

 

3. 2.7x
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(1) 150   (2) 240   (3) 280   (4) 300 

 

 

4. 31BA 22  
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 ?BA  
 

(1) 28  (2) 29  (3) 31   (4) 32 
 
 

5. 3BA 22  
4BA2  

   ?BA
4
 

 
(1 ) 49   (2 ) 64   (3 ) 81   (4) 111 

 
 
 ?תמידאיזה תנאי צריך להתקיים כדי שהמשוואה הבאה תתקיים  .6

 222 yxyx  
 

(1) yx       

(2) x  אוy 1-שווים ל  
(3) yxyx      
 מצב זה אינו אפשרי (4)

  
 
 
 
 


